
Working on a clear flat surface, insert roller assembly (3) through motor mount channel (1B)
and right channel (2).
NOTE: If using one motor, place geared roller assembly into the ramp end
of the frame (where the motor mount plate is welded closest to the edge).       
NOTE: The powder coating will fill some holes. Specifically, scrape or lightly 
grind away paint from motor mount adapter hole and bearing mount holes.

Place crossties (4) inside channels (1B&2) align holes. Rear wheel brackets (11L, 11R) should 
be placed as shown in exploded view.  

Loosely bolt together the frame using 3/8x1" lg. Hex bolts, lockwashers and nuts (14,15,16).
Also place 3/8 bolts, nuts, and lock washers through wheel brackets and rear cross tie.

Insert 5/16 x 3/4" lg. Hex bolts, lockwashers, and nuts (16,17,18) through the flange bearings
(part of the roller assembly 3) and through the channels (1B&2).
NOTE: Ensure the bolt heads are mounted inside the channel.

Tighten all 3/8 bolts, nuts and lock washers. Proceed in a zigzag pattern. 
Finally, tighten rear wheel brackets.

THE FOLLOWING PROCEDURE ENSURES MINIMUM GEAR WEAR AND MAXIMUM POWER
TRANSMISSION THROUGH THE GEARS.

Move the roller shafts (3) laterally away from the motor plate channel (1B). Ensure rear hub of
driven gear is against flange bearing. Using an Allen key, lock all 8 of the set screws in the
bearing collars. Using thin strips of duct tape, wrap each collar to ensure that the setscrews
cannot loosen and fall out.

Mount a Ford Starter motor in either of the motor plates using 3/8 x 1" hex bolts and nuts. Lock
in place.

Remove small retainer screw from the Bendix actuator cover on top of the Ford Starter and
remove cover. The actuator lever is now exposed. Depress the lever while gently rocking the
roller. The small pinion gear will now engage the affixed drive gear on the end of the roller. With
both gears engaged, again rock the roller back and forth and observe the amount of free play
between the gears. Generally, it is not possible to create a locking condition between these
mating gears. The proper adjustment will allow for a small amount of play between the mating
teeth. When this has been set, finger tighten the 5/16 x 1" hex bolts, nuts and lock washers. The
final tightening using wrenches, can now be accomplished. Repeat this procedure for the next
roller. It is advisable at this time to apply power to the starter(s). This will necessitate the
mounting of the solenoid as well as the associated cables and foot switch and battery. (See
accompanying drawing for solenoid mounting as well as wiring diagram for switch mounting.)
Depress the foot switch and run the SOLO. Observe the engagement and disengagement of the
gears. The operation should be smooth and the pinion of the Ford starter should retract smartly
when the foot switch is let go. If there should be a "hang gear" condition, (i.e. pinion doesn’t
retract smartly) repeat the above procedure. 
CAUTION: DO NOT FREE RUN STARTER MOTORS EXCESSIVELY, THIS COULD CAUSE
DAMAGE TO THE UNITS.

The ramps may now be mounted (7,9) See exploded drawing. The narrow ramp (7) is mounted
to the front of the SOLO assembly. Before mounting the side guard (22) ensure all bolts on the
frame and all 5/16 bearing flange bolts are secured.

Your SOLO starter is now ready for service.

A

A deep cycle marine battery (850 CCA or greater) is recommended. Hard wiring is
recommended. #4 cable (nominal length-36") should be used between the battery and the
starters and #4 cable should be used between starters and solenoid. (Nominal length 12")
Some applications may require the use of an additional 6-Volt battery. Read the applicable
wiring diagram and wire accordingly.

Assembly Instructions

B

C

D

E

F

G

H

I

J

One Motor Option

In right channel (2) mount sprockets (15) on roller ends using 1/4” square keys (19). 

Apply Loctite blue to set screws, position and align both sprockets and lock in place using Allen
key. Cut thin strips of duct tape and wrap hubs. This ensures that the small setscrews will not be
lost if they should work free. Assemble chain onto sprockets with master link. Mount chain
tensioner block (17) using 5/16” hex bolts (18).

Mount chain guard using 1/4” bolts, and nuts.

A

B

C

Battery Selection

Setting the lateral position 
of the roller shafts

Allow for a small amount of play
between the mating teeth

F

H

Solenoid is attached under 
motor mount channel

View showing motors, solenoid, 
cables and foot switch



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


